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1) x’y —y3 + x%z — y*z
=x*(y+2) - y*(y +2)
=(**-»)y+2)
=@ +yx-y»»+2)

2) 2x* —y? — 222 — xy — 3yz — 3xz

=2x* — (y +3z)x — y* — 3yz — 27°
=2x2—(y+32)x— (y+22)(y+ 2)
=(x—-y—-2z2)2x+y+2)
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1) 2x2+5x=3

=2x*+5x—3=0
2x—-1)(x+3)=0
1

—_ -3
*=3

2) x2+2x-8<0
=(x+4)(x—-2)<0

a4 <x<2
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lx+1|+|x—2|>4x+3

Dx<—-1D& X
—-(x+1)—-(x—2)>4x+3

i) —1Sx<20 &%
x+1—-(x—2)>4x+3

—-x—1—-x+2>4x+3 3>4x+3
—2x+1>4x+ 3 —4x >0
6x <2 x<0
cx< -1

lix=220L X
x+1+x—-2>4x+3
2x—1>4x+3
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—2x>4 2 x<0
x< -2
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3m(-1,3). (0, -3). (1,-5)Z@BH = REAHZERD &K

y = ax? + bx + c&£H< @D, IR A
a—-b=6

3=a-b+c @ a+b=-2

-3 =c¢ (@ 2a =4

—5=a+b+c ---Q a=2 b=-4

cy=2x2—4x-3

COBEMT —2=x=2 DEED y OBR/MEERKEERD K,

y=2(x—1)%-5

x=10L % K/ME -5
x=-20& % FKfE 13

COBR#E y=x+4 EOHFAZRDHEI,

2x2—4x—-3=x+4

2x2-5x—-7=0
x+1)2x—-7)=0
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x=—-10t Zy=3
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JWAB=4cm. iBIBC=6cm. ZABC=60° D&=

1) ZO=AROEEZRDOL,

1
S=E><4><6><sin60°
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=—X4X X —
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=6V3 cm? y 607 \

2) JAACERDL,

AC? = AB? + BC?> — 2 - AB - BC - cos 60°
1
=16+36—2-4-6-E

=16 + 36 — 24 = 28
AC =27 cm
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AC - R 27
sin 60° B V3
2 X —o—
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